NISSAN

999D40TRNOO
PART NUMBER 999D40TRALOO

Navara 2005 -

Transmission case protector

SawwmTa KM

LIST OF PARTS

| PART NAME

| arv. |

Threaded insert

Threaded insert

Threaded insert
with tail

Bush

Bolt M8x20

Bolt M10x20

Bolt M10x50

Washer 8

Washer 10

Installation manual

CMUCOK OETANEN

| PART NAME

| arv. |

[MnaHka 3aknagHas

[NnaHka 3aknagHas

TnaHka 3aknagHas
c ycom

Brynka

Bont M8x20

Bont M10x20

Bont M10x50

LLlan6a 8

LLlan6a 10

WHcTpykums

2l RhRlW|2 W W]|=2IN|=~|-

%

&)

&

H

"\

N

&

ISSUE02







/ ii%z;ma‘ifmmfﬂr
e = 111
m— ! ! (A EIIEY
il
A eBEsy.
RN =,
| I 5 |
. MOMEHT
SATAXKN
TORQUE
47.0 N.m

N

MOMEHT
SATAXKKN
TORQUE

/l
MOMEHT O /%
SATSHKKM
47.0N.m

1?5%5’5 i NN
o o ol N
\\‘.',T - \\\ / /
I/'\ 7 L N
MOM Q ; S / MOMEHT
BATAXKKM ' = ;
. ToNQuE

TORQUE
24.0 N.m /

3 ISSUE02




